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Find a Half

1a. Find half of the cricket balls. Tick a
box to show the answer.

Q9908
Q9998

2a. Circle _L 2 of the sweets below.

3a. Use the counters to complete the bar

model.

The whole is . Half of |m Is .

127

4a. Complete the part-whole model.

Y

Maths

We have worked hard on finding fractions of amounts this week.

Find a Half

1b. Find half of the bears. Tick a box to
show the answer.

8888888
8888888
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2b. Circle % of the pencils below.
1

3b. Use the counters to complete the bar
model.

00 0000/00%0%¢|

The whole Is Half of l@ 2
o = .

4b. Complete the part-whole model.

sashais
incorrect
because
half off 24 is
12

£10
because
half off
20is10

4a. Is Sasha correct?

| had 24 sweets. | gave half of
them to Sam. Now we have 14
sweets each.
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5a. Using the digit cards, complete the
statements below.

IIEJ@

éa. Aria has £20. She wants to buy a ball

that costs half of her money. How much
does the ball cost?

Explain how you know.

4b. Is Naveed correct?

| picked 14 raspberries. | ate
half of them. Now | have 7
raspberries left.
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Explain why.

5b. Using the digit cards, complete the
statements below.

éb. Evie has £26. She wants to buy a
racket which costs half of her money.
How much does the racket cost?

Explain how you know.

Jennifer

Naveedis
correct
because
half off14 is
7

£13
because
half off 26 is
13

We’ve improved so much at explaining our answers in maths.



Recognising Statements Recognising Statements

4a. Is the sentence below a statement or 4b. Is the sentence below a statement or
a question? Explain how you know. a question? Explain how you know.

Both children were Who can run the
very kind. fastest?

5a. Sort the sentences into the correct 5b. Sort the sentences into the correct
groups. groups.

[ Gueston | statement_|
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O (]

A. My earissore. B. Whyis it cold? A. Howold heis! B. The dooris shut.
C. Whois he? D. The flooris wet. C. The bathis hot. D. How cold it is!
E. Canyoufindit? F. Mr. Jonesis old. E. ltis2o'clock. F. |amsix.

éa. Tara thinks she has written a statement. | éb. Sam thinks he has written a statement.

Tara is incorrect because the Sam is correct the sentence is
sentence ends with an statement because it ends in a full
‘exciomation mark.

Is she correct? Explain your answer. Is he correct? Explain your answer.

¢

Literacy

Recognising Statements

1a. Is the sentence below a statement or
an exclamation? Explain how you know.

What a clever girl she
is!

We know itis an
exlamation because it
has an exclamation
make at the end.

2a. Sort the sentences into the correct
groups.

How funny the
dog is!

How deep the D The bird flew
° snow is! T away.

A. lwaitfortea. B.

Recognising Statements

1b. Is the sentence below a statement or
an exclamation? Explain how you know.

The horse was jumpy.

This is a statement
because it has a full
stop at the end.

2b. Sort the sentences into the correct
groups.

What a happy B How green the
" boy he is! * trees look!

My dad has a

e, D. He came home.

3a. Julie thinks she has written a statement.| 3b. Ali thinks he has written a statement.

Correct because she has
put a full stop at the end.

He is not correct as he has
an exclamtion at the end

Jake

This week our GPS focus was on statement sentences.
Children worked hard to identify the features and how
they are different to the other types we’ve looked at.



History
We researched Anglo-Saxon gods and found out about

what made them special to the Anglo-Saxons and how
they are still present today in names of days and events.

Freddie

\voden was nickramrmed ths %rcfn
thes r"u,glub!. becancse he és god o5 decrttr
Sourpns belined thar he was the mesc Pratrgi
%;CNLM thae led oved the outhergods
an. wnlm WWW traradel Mmaks
them trinhaden 5 not enly goc O
ol and duaoth he s adso goct OF

A scire Peotle. thoghe thot hed .




